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vkS|ksfxd vFkZ'kkL=vkS|ksfxd vFkZ'kkL=vkS|ksfxd vFkZ'kkL=vkS|ksfxd vFkZ'kkL=vkS|ksfxd vFkZ'kkL=
Industrial Economics

Maximum Marks : 40

uksV &uksV &uksV &uksV &uksV & lHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sd iz'ulHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sd iz'ulHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sd iz'ulHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sd iz'ulHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sd iz'u
ds mÙkj dh 'kCn lhek 250&300 'kCn gSAds mÙkj dh 'kCn lhek 250&300 'kCn gSAds mÙkj dh 'kCn lhek 250&300 'kCn gSAds mÙkj dh 'kCn lhek 250&300 'kCn gSAds mÙkj dh 'kCn lhek 250&300 'kCn gSA
Attempt all questions. Distribution of marks is given against each Question.

Word limit for each Answer is 250-300 words.

iz'u 1- Hkkjr dh vkS|ksfxd uhfr 1991 dh fo'ks"krk,¡ fyf[k,A   ¼08½
Write the characteristics of Industrial Policy 1991 of India.

iz'u 2- lkoZtfud vkSj futh {ks= esa varj crkb,A ¼08½
Distinguish between public and private sector.

iz'u 3- QeZ dk fu;a=.k ,oa mn~ns'; fyf[k,A ¼08½
Write the objectives and control of firm.

iz'u 4- vkS|ksfxd LFkkuh;dj.k dks izHkkfor djus okys dkjd fyf[k,A ¼08½
Write the factors affecting location of Industry.

iz'u 5- mRikndrk dh vo/kkj.kk ls vki D;k le>rs gSa ,oa ekiu dh fof/k;k¡ fyf[k,A  ¼08½
What do you understand by concept of productivity and write the methods of its

measurment.
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